loff and	on County Dublis Color													
	on County Public Schoo	DIS												
Bid Tabula														
Event Name Event ID: JC	e: Flashlights, Batteries, Etc.													
	ate: April 16, 2024													
Date Bids R	eceived: March 13, 2024													
	eriod: April 26, 2024 through April 25,	2025												
	No renewal option : Award Status indicates an Award													
comments.	Award Status indicates an Award													
Item Number	Item/Service	Description	Commodity Code	Vendor Name	No Bid	UOM	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
1	Battery, alkaline, AA, NEDA-15-A, 1	ONLY these nationally recognized name brands are		Southern Tool Supply		1 Each Purchase	32508							
	1/2 volts, 9/16" x 1 31/32".	acceptable: Duracell, Energizer, Eveready and Interstate.												
1	Battery, alkaline, AA, NEDA-15-A, 1	ONLY these nationally recognized name brands are	1400040-1100972	All Battery Center of	No	1 Each Purchase	32508	Interstate Battery	Interstate Battery	\$0.27	\$8,777.16	Packed 24 per Box		
	1/2 volts, 9/16" x 1 31/32".	acceptable: Duracell, Energizer, Eveready and Interstate.		Central Kentucky, Inc				Systems of America	Systems of America DRY0070				Awarded	
1	Battery, alkaline, AA, NEDA-15-A, 1	ONLY these nationally recognized name brands are	1400040-1100972	PYRAMID SCHOOL	No	1 Each Purchase	32508	ENERGIZER	ENERGIZER EN91	\$0.32	\$10,402.56	24 EACH PER BOX/ 6BOXES PER CASE		
	1/2 volts, 9/16" x 1 31/32".	acceptable: Duracell, Energizer, Eveready and Interstate.		PRODUCTS										
2	Battery, alkaline, AAA, NEDA-24-A, 1	ONLY these nationally recognized name brands are	1400040-1368925	Southern Tool Supply	Yes	1 Each Purchase	26088							
	1/2 volts, 13/32" x 1 3/4".	acceptable: Duracell, Energizer, Eveready and Interstate.												
2	Battery, alkaline, AAA, NEDA-24-A, 1 1/2 volts, 13/32" x 1 3/4".	ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Interstate.	1400040-1368925	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	26088	Interstate Battery Systems of America	Interstate Battery Systems of America DRY0075	\$0.25	\$6,522.00	Packed 24 Per Box	Awarded	
2	Battery, alkaline, AAA, NEDA-24-A, 1	ONLY these nationally recognized name brands are	1400040-1368925	PYRAMID SCHOOL	No	1 Each Purchase	26088	ENERGIZER	ENERGIZER EN92	\$0.32	\$8,348.16	24 EACH PER BOX/ 6 BOXES PER CASE		
Z	1/2 volts, 13/32" x 1 3/4".	acceptable: Duracell, Energizer, Eveready and Interstate.	1400040-1308923	PRODUCTS	NU		20088	LINERGIZER	ENERGIZER EN92	30.32	30,340.1 0	24 EACH FER BOAY & BOALS FER CASE		
3	Batterγ, alkaline, C, NEDA-14-A, 1 1/2 volts, 1 1/32" x 1 15/16".	ONLY these nationally recognized name brands are acceptable: Duraceli, Energizer, Eveready and Interstate.	1400040-1100981	Southern Tool Supply	Yes	1 Each Purchase	1500							
3	Battery, alkaline, C, NEDA-14-A, 1	ONLY these nationally recognized name brands are	1400040-1100981	PYRAMID SCHOOL	No	1 Each Purchase	1500	ENERGIZER	ENERGIZER EN93	\$0.79	\$1,185.00	12 EACH PER BOX/ 6 BOXES PER CASE		
	1/2 volts, 1 1/32" x 1 15/16".	acceptable: Duracell, Energizer, Eveready and Interstate.		PRODUCTS									Awarded	
3	Battery, alkaline, C, NEDA-14-A, 1 1/2 volts, 1 1/32" x 1 15/16".	ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Interstate.	1400040-1100981	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	1500	Interstate Battery Systems of America	Interstate Battery Systems of America DRY0080	\$1.10	\$1,650.00	Packed 12 Per box		
4	Battery, alkaline, D, NEDA-13-A, 1 1/2 volts, 1 11/32" x 2 13/32".	ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Interstate.	1400040-1132134	Southern Tool Supply	Yes	1 Each Purchase	3708							
4	Battery, alkaline, D, NEDA-13-A, 1	ONLY these nationally recognized name brands are	1400040-1132134	PYRAMID SCHOOL	No	1 Each Purchase	3708	ENERGIZER	ENERGIZER EN95	\$1.29	\$4,783.32	12 EACH PER BOX/ 6 BOXES PER CASE		
+	I/2 volts, 1 11/32" x 2 13/32".	over these nationary recognized name prants are acceptable: Duracell, Energizer, Eveready and Interstate.	1100040*1132134	PRODUCTS	NO	2 Lacin Furchase	5708	ENERGIZER		Ş1.25	ψ , ,,ο3.32	22 Standard Boy Boxes Fer CASE	Awarded	
4	Battery, alkaline, D, NEDA-13-A, 1 1/2 volts, 1 11/32" x 2 13/32".	ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Interstate.	1400040-1132134	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	3708	Interstate Battery Systems of America	Interstate Battery Systems of America DRY0085	\$1.32	\$4,894.56	Packed 12 Per Box		

								1	1		[1		
5	Battery, alkaline, NEDA-1604-A, 9 volts, 1 13/32" x 11/16" x 1 15/16".	ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Interstate.	1400040-1368961	Southern Tool Supply	Yes	1 Each Purchase	1992							
5	Batterγ, alkaline, NEDA-1604-A, 9 volts, 1 13/32" x 11/16" x 1 15/16".	ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Interstate.	1400040-1368961	PYRAMID SCHOOL PRODUCTS	No	1 Each Purchase	1992	ENERGIZER	ENERGIZER EN22	\$1.43	\$2,848.56	12 EACH PER BOX/ 6 BOXES PER CASE	Awarded	
5	Batterγ, alkaline, NEDA-1604-A, 9 volts, 1 13/32" x 11/16" x 1 15/16".	ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Interstate.	1400040-1368961	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	1992	Interstate Battery Systems of America	Interstate Battery Systems of America DRY0196	\$1.46	\$2,908.32	Packed 12 Per Box		
6	Battery, lantern, NEDA-908, 6 volts, square, spring terminals,	2 5/8" x 2 5/8" x 4 7/16", 4-F. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Interstate.	1400100-1121271	Southern Tool Supply	Yes	1 Each Purchase	5							
6	Battery, lantern, NEDA-908, 6 volts, square, spring terminals,	2 5/8" x 2 5/8" x 4 7/16", 4-F. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Interstate.	1400100-1121271	PYRAMID SCHOOL PRODUCTS	No	1 Each Purchase	5	ENERGIZER	ENERGIZER 1209	\$3.59	\$17.95		Awarded	
6	Battery, lantern, NEDA-908, 6 volts, square, spring terminals,	2 5/8" x 2 5/8" x 4 7/16", 4-F. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Interstate.	1400100-1121271	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	5	Interstate Battery Systems of America	Interstate Battery Systems of America DRY1403	\$3.70	\$18.50			
7	Battery, lantern, NEDA-918, 6 volts, rectangular, screw terminals,	5 3/4" x 2 7/8" x 4 3/8". Ray-O-Vac #918, NO SUBSTITUTE.	1400100-1116714	All Battery Center of Central Kentucky, Inc	Yes	1 Each Purchase	6							
7	Battery, lantern, NEDA-918, 6 volts, rectangular, screw terminals,	5 3/4" x 2 7/8" x 4 3/8". Ray-O-Vac #918. NO SUBSTITUTE.	1400100-1116714	Southern Tool Supply	Yes	1 Each Purchase	6							
7	Battery, lantern, NEDA-918, 6 volts, rectangular, screw terminals,	5 3/4" x 2 7/8" x 4 3/8". Ray-O-Vac #918, NO SUBSTITUTE.	1400100-1116714	PYRAMID SCHOOL PRODUCTS	No	1 Each Purchase	6	RAYOVAC	RAYOVAC 918	\$14.98	\$89.88		Awarded	
8	Battery, rechargeable nickel-metal hydride (NIMH), AA, 2000 MA, 1.25 volt, NEDA-15NM.	ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready, Interstate and Ray- O-Vac.	1400160-1359024	Southern Tool Supply	Yes	1 Each Purchase	204							
8	Battery, rechargeable nickel-metal hydride (NIMH), AA, 2000 MA, 1.25 volt, NEDA-15NM.	ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready, Interstate and Ray- O-Vac.	1400160-1359024	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	204	Interstate Battery Systems of America	Interstate Battery Systems of America NIC1460	\$2.71	\$552.84	Packed 4	Awarded	
8	Battery, rechargeable nickel-metal hydride (NIMH), AA, 2000 MA, 1.25 volt, NEDA-15NM.	ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready, Interstate and Ray- O-Vac.	1400160-1359024	PYRAMID SCHOOL PRODUCTS	No	1 Each Purchase	204	RAYOVAC	RAYOVAC LD715-4	\$2.89	\$589.56	4 EACH PER PACKAGE		
9	Battery, Rechargeable, Nickel-Metal Hydride NIMH, AAA 850 MAH 1.2 Volt for weather alert radio.	ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready, Interstate and Ray- O-Vac.	1400160-1726119	Southern Tool Supply	Yes	1 Each Purchase	5							
9	Battery, Rechargeable, Nickel-Metal Hydride NIMH, AAA 850 MAH 1.2 Volt for weather alert radio.	ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready, Interstate and Ray- O-Vac.	1400160-1726119	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	5	Interstate Battery Systems of America	Interstate Battery Systems of America NIC6214	\$1.40	\$7.00	Packed 4	Awarded	
9	Battery, Rechargeable, Nickel-Metal Hydride NIMH, AAA 850 MAH 1.2 Volt for weather alert radio.	ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready, Interstate and Ray- O-Vac.	1400160-1726119	PYRAMID SCHOOL PRODUCTS	No	1 Each Purchase	5	RAYOVAC	RAYOVAC LD724-4	\$2.88	\$14.40	4 EACH PER PACKAGE		

10	Battery, rechargeable, 6 volt, sealed lead acid, 4.50 A.H., F1 terminals.	PowerSonic #PS640 or equal.	1400060-1443110	PYRAMID SCHOOL PRODUCTS	Yes	1 Each Purchase	10							
10	Battery, rechargeable, 6 volt, sealed lead acid, 4.50 A.H., F1 terminals.	PowerSonic #PS640 or equal.	1400060-1443110	Southern Tool Supply	Yes	1 Each Purchase	10							
10	Battery, rechargeable, 6 volt, sealed lead acid, 4.50 A.H., F1 terminals.	PowerSonic #P5640 or equal.	1400060-1443110	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	10	Interstate Battery Systems of America	Interstate Battery Systems of America SLA0905	\$5.88	\$58.80		Awarded	
11	Battery, rechargeable, 6 volt, sealed lead acid, 7.0 A.H., F1 terminals.	PowerSonic #PS670 or equal.	1400060-1728805	PYRAMID SCHOOL PRODUCTS	Yes	1 Each Purchase	30							
11	Battery, rechargeable, 6 volt, sealed lead acid, 7.0 A.H., F1 terminals.	PowerSonic #PS670 or equal.	1400060-1728805	Southern Tool Supply	Yes	1 Each Purchase	30							
	Battery, rechargeable, 6 volt, sealed lead acid, 7.0 A.H., F1 terminals.	PowerSonic #P5670 or equal.	1400060-1728805	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	30	Interstate Battery Systems of America	Interstate Battery Systems of America SLA0925	\$10.41	\$312.30	Packed 10 per Case	Awarded	
12	Battery, rechargeable, 6 volt, sealed lead acid, 12.00 A.H.,	F1 terminals. PowerSonic #PS6100 or equal.	1400060-1083581	PYRAMID SCHOOL PRODUCTS	Yes	1 Each Purchase	60							
12	Battery, rechargeable, 6 volt, sealed lead acid, 12.00 A.H.,	F1 terminals. PowerSonic #PS6100 or equal.	1400060-1083581	Southern Tool Supply	Yes	1 Each Purchase	60							
12	Battery, rechargeable, 6 volt, sealed lead acid, 12.00 A.H.,	F1 terminals. PowerSonic #PS6100 or equal.	1400060-1083581	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	60	Interstate Battery Systems of America	Interstate Battery Systems of America SLA0961	\$14.96	\$897.60	Packed 10 Per Case	Awarded	
13	Battery, rechargeable, 6 volt, sealed lead acid, F2 terminal, 42 amp.,	6.25"L x 3.35"W x 6.5"H. Eagle-Picher #CF6V33 or equal.	1400060-1697822	PYRAMID SCHOOL PRODUCTS	Yes	1 Each Purchase	6							
13	Battery, rechargeable, 6 volt, sealed lead acid, F2 terminal, 42 amp.,	6.25"L x 3.35"W x 6.5"H. Eagle-Picher #CF6V33 or equal.	1400060-1697822	Southern Tool Supply	Yes	1 Each Purchase	6							
13	Battery, rechargeable, 6 volt, sealed lead acid, F2 terminal, 42 amp.,	6.25"L x 3.35"W x 6.5"H. Eagle-Picher #CF6V33 or equal.	1400060-1697822	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	6	Interstate Battery Systems of America	Interstate Battery Systems of America SLA0993	\$68.40	\$410.40		Awarded	
14	Battery, rechargeable, 12 volt, sealed lead acid, 7 A.H., F1 terminals,	5.95°L x 2.56°W x 3.70°H. PowerSonic #PS1270 or equal.	1400060-1719353	PYRAMID SCHOOL PRODUCTS	Yes	1 Each Purchase	300							
14	Battery, rechargeable, 12 volt, sealed lead acid, 7 A.H., F1 terminals,	5.95"L x 2.56"W x 3.70"H. PowerSonic #PS1270 or equal.	1400060-1719353	Southern Tool Supply	Yes	1 Each Purchase	300							
14	Battery, rechargeable, 12 volt, sealed lead acid, 7 A.H., F1 terminals,	5.95"L x 2.56"W x 3.70"H. PowerSonic #PS1270 or equal.	1400060-1719353	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	300	Interstate Battery Systems of America	Interstate Battery Systems of America FAS1075	\$13.92	\$4,176.00	Packed 8 per Case	Awarded	

15	Battery, rechargeable, 12 volt, sealed lead acid, 12 A.H., F1 terminals.	Power Sonic #PS12100 or equal.	1400060-1710920	PYRAMID SCHOOL PRODUCTS	Yes	1 Each Purchase	10							
15	Battery, rechargeable, 12 volt, sealed lead acid, 12 A.H., F1 terminals.	Power Sonic #PS12100 or equal.	1400060-1710920	Southern Tool Supply	Yes	1 Each Purchase	10							
15	Battery, rechargeable, 12 volt, sealed lead acid, 12 A.H., F1 terminals.	Power Sonic #PS12100 or equal.	1400060-1710920	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	10	Interstate Battery Systems of America	Interstate Battery Systems of America FAS1105	\$28.49	\$284.90	Packe 4 per Case	Awarded	
16	Battery, rechargeable, 12 volt, sealed lead acid, 18 A.H.,	F2 terminals. Eagle-Picher #CF12V18 or equal.	1400060-1721892	PYRAMID SCHOOL PRODUCTS	Yes	1 Each Purchase	38							
16	Battery, rechargeable, 12 volt, sealed lead acid, 18 A.H.,	F2 terminals. Eagle-Picher #CF12V18 or equal.	1400060-1721892	Southern Tool Supply	Yes	1 Each Purchase	38							
16	Battery, rechargeable, 12 volt, sealed lead acid, 18 A.H.,	F2 terminals. Eagle-Picher #CF12V18 or equal.	1400060-1721892	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	38	Interstate Battery Systems of America	Interstate Battery Systems of America SLA1115	\$38.92	\$1,478.96	Packed 2 per case	Awarded	
17	Battery, rechargeable, 12 volt, sealed lead acid, 75 A.H.,	w/wing-nut, top-mount terminals. PowerSonic #PS-12750 or equal.	1400060-1676689	PYRAMID SCHOOL PRODUCTS	Yes	1 Each Purchase	1							
17	Battery, rechargeable, 12 volt, sealed lead acid, 75 A.H.,	w/wing-nut, top-mount terminals. PowerSonic #PS-12750 or equal.	1400060-1676689	Southern Tool Supply	Yes	1 Each Purchase	1							
17	Battery, rechargeable, 12 volt, sealed lead acid, 75 A.H.,	w/wing-nut, top-mount terminals. PowerSonic #PS-12750 or equal.	1400060-1676689	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	1	Interstate Battery Systems of America	Interstate Battery Systems of America SLA1175	\$169.96	\$169.96		Awarded	
18	Battery, rechargeable, 12 volt, sealed lead acid, 5 A.H., F1 terminal,	3.54"L x 2.76"W x 3.98"H. PowerSonic #PS1250 or equal.	1400060-1669552	PYRAMID SCHOOL PRODUCTS	Yes	1 Each Purchase	5							
18	Battery, rechargeable, 12 volt, sealed lead acid, 5 A.H., F1 terminal,	3.54"L x 2.76"W x 3.98"H. PowerSonic #PS1250 or equal.	1400060-1669552	Southern Tool Supply	Yes	1 Each Purchase	5							
18	Battery, rechargeable, 12 volt, sealed lead acid, 5 A.H., F1 terminal,	3.54"L x 2.76"W x 3.98"H. PowerSonic #P51250 or equal.	1400060-1669552	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	5	Interstate Battery Systems of America	Interstate Battery Systems of America FAS1055	\$12.08	\$60.40		Awarded	
19	Battery, rechargeable, 12 volt, sealed lead acid, F2 terminal,	Model 2000, 33 A.H., 13.50°L x 3.35°W x 6.50°H. Eagle-Picher #CF12V33I-C. NO SUBSTITUTE.	1400060-1683384	PYRAMID SCHOOL PRODUCTS	Yes	1 Each Purchase	5							
19	Battery, rechargeable, 12 volt, sealed lead acid, F2 terminal,	Model 2000, 33 A.H., 13.50"L x 3.35"W x 6.50"H. Eagle-Picher #CF12V33L-C. NO SUBSTITUTE.	1400060-1683384	Southern Tool Supply	Yes	1 Each Purchase	5							
19	Battery, rechargeable, 12 volt, sealed lead acid, F2 terminal,	Model 2000, 33 A.H., 13.50°L x 3.35°W x 6.50°H. Eagle-Picher #CF12V33L-C. NO SUBSTITUTE.	1400060-1683384	All Battery Center of Central Kentucky, Inc	No	1 Each Purchase	5	Eagle Picher	Eagle Picher CF12V33L/SLA1154	\$162.00	\$810.00		Awarded	

												-	-	
20	Charger, for batteries, rechargeable nickel-metal hydride (NIMH), battery sizes: 9V, AA, AAA, C and D.	Ray-O-Vac #PS20PLGEN or equal. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Ray-O-Vac.	1400320-1368952	All Battery Center of Central Kentucky, Inc	Yes	1 Each Purchase	5							
20	Charger, for batteries, rechargeable nickel-metal hydride (NIMH), battery sizes: 9V, AA, AAA, C and D.	Ray-O-Vac #PS20PLGEN or equal. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Ray-O-Vac.	1400320-1368952	Southern Tool Supply	Yes	1 Each Purchase	5							
20	Charger, for batteries, rechargeable nickel-metal hydride (NIMH), battery sizes: 9V, AA, AAA, C and D.	Ray-O-Vac #PS20PLGEN or equal. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Ray-O-Vac.	1400320-1368952	PYRAMID SCHOOL PRODUCTS	No	1 Each Purchase	5	ENERGIZER	ENERGIZER CHFC	\$35.99	\$179.95		Awarded	
21	Flashlight, industrial, heavy duty, LED, 2-cell, D, resistant to breakage.	Energizer 1251L or equal. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Ray-O-Vac.	2700395-1135300	All Battery Center of Central Kentucky, Inc	Yes	1 Each Purchase	300							
21	Flashlight, industrial, heavy duty, LED, 2-cell, D, resistant to breakage.	Energizer 1251L or equal. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Ray-O-Vac.	2700395-1135300	PYRAMID SCHOOL PRODUCTS	No	1 Each Purchase	300	RAYOVAC	RAYOVAC ROVLC1LD2D1	\$4.39	\$1,317.00			Reject - Item bid is not equal, doe s not meet size or have ha nger ring.
21	Flashlight, industrial, heavy duty, LED, 2-cell, D, resistant to breakage.	Energizer 1251L or equal. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Ray-O-Vac.	2700395-1135300	Southern Tool Supply	No	1 Each Purchase	300	ENERGIZER	ENERGIZER SO1251L	\$4.42	\$1,326.00	2% 30 DAYS	Awarded	
22	Lantern, industrial, heavy duty, plastic case, unbreakable lens, floating type complete with 10 LEDs and battery, 6 volt, rubberized switch.	Ray-O-Vac #BEPLN6V-BTA or equal. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Ray-O-Vac.	2700395-1132125	All Battery Center of Central Kentucky, Inc	Yes	1 Each Purchase	5							
22	Lantern, industrial, heavy duty, plastic case, unbreakable lens, floating type complete with 10 LEDs and battery, 6 volt, rubberized switch.	Ray-O-Vac #BEPLN6V-BTA or equal. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Ray-O-Vac.	2700395-1132125	PYRAMID SCHOOL PRODUCTS	Yes	1 Each Purchase	5							
22	Lantern, industrial, heavy duty, plastic case, unbreakable lens, floating type complete with 10 LEDs and battery, 6 volt, rubberized switch.	Ray-O-Vac #BEPLN6V-BTA or equal. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Ray-O-Vac.	2700395-1132125	Southern Tool Supply	No	1 Each Purchase	5	RAYOVAC	RAYOVAC BEPLN6V-BTB	\$9.52	\$47.60	2% 30 DAYS	Awarded	
23	Lantern, industrial, heavy duty Sportsman lantern, sealed beam, with 6 volt battery #918, lamp bulb #4546.	Ray-O-Vac #301K or equal. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Ray-O-Vac.	2700395-1080404	All Battery Center of Central Kentucky, Inc	Yes	1 Each Purchase	5							
23	Lantern, industrial, heavy duty Sportsman lantern, sealed beam, with 6 volt battery #918, lamp bulb #4546.	Ray-O-Vac #301K or equal. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Ray-O-Vac.	2700395-1080404	PYRAMID SCHOOL PRODUCTS	Yes	1 Each Purchase	5							
23	Lantern, industrial, heavy duty Sportsman lantern, sealed beam, with 6 volt battery #918, lamp bulb #4546.	Ray-O-Vac #301K or equal. ONLY these nationally recognized name brands are acceptable: Duracell, Energizer, Eveready and Ray-O-Vac.	2700395-1080404	Southern Tool Supply	Yes	1 Each Purchase	5							

Jefferson County Public	Schools	
Award Totals		
Event Name: Flashlights, Batteries, Etc.		
Event ID: JCPS-8323		
Approval Date: April 16, 2024		
Vendor	Bid Amount	Award Total
All Battery Center of Central Kentucky, Inc	\$34,549.54	\$25,078.16
PYRAMID SCHOOL PRODUCTS	\$30,380.30	\$9,104.66
Southern Tool Supply	\$1,373.60	\$1,373.60